
 
 

5400 Nut and Bolt Replacement Pack contents 
 
 
Part number  Description      Qty 
 
5330  5/8” x 5” Bolt & Nut for 0650     2 
5130  ¾” x 5” Bolt & Nut for 0200     3 
5335  5/8” x 4 ½” Bolt & Nut for 0250     2 
4045  5/8” x 3 ½” Bolt, Nut, Washer, & Spring    3 
5254  ½” x 4” Bolt, Nut, Washer, & Spring for 0655   2 
5122  ¾” x 3 ½” Grade 5 Bolt, Nut, & Spring, Washer   3 
5230  ½” x 1 ¼” Bolt & Washer for 2100 and 2400   6 
5220  ½” x 2” clevis pin for 4110      6 
5340  5/8” nut only       12 
5325  5/8” x 3” Bolt, Nut, & Washer for 4050    4 
5110  ¾” nut only       12 
5240  ½” nut only       12 
5247  ½” x 2 ½” Nut, Bolt, Spring, & Washer for 0305 and 0405  4 
5345  5/8” washer       12 
5321  ½” washer       12 
5350  5/8” x 3” Bolt & Nut for 0300     2  
5246  ½” x 3” Nut, Bolt, Washer, & Spring for 0205   2 
 


